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L. Express (—2 — 3i)® insimplest a + bi form.
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3. Determine the inverse of f(x) == x + 1. Use compositions to prove that you are correct.
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4. Solve 9x? + 112 = 0 and express your answer in simplest radical form.
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5. Determine the equation in standard form for the graph shown:
Posi hvB, EVEN DEREE Yf—(.(gf'”-“z* S—Hz,)(x—f}
RoeT... Factmors. -. { :\gq+ L(K3+§X2+2x
| -2 (_)ﬂ.‘i‘l] .,' ‘—(}(3’412"5}( =%
i '3 5 ()L'H) ':']__ = g e i< B
! I Y = -v2
- 2 (x-t) i"‘y:x 23X+ X 5K 7
: I ;L
i *
2 |
| VPNl Y14 ) B — — -
\/—Q{ w2 x # (K2l x=)
}( -:—_2)?- + X
+2x 2 +4x+2 TURN OVER

2 FUY TS X2




6. If f(x) = 2x% —10x and g(x) = x — 3, evaluate f(g(x)) and (go f)(x)
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8. Solve algebraically for the exact values of x: %—% =x—i1
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10. Classify the symmetry of f(x) = —2x? + 4x3 — 8x + 1 as even, odd, or neither. Justify your answer.
ENEN: #(x) L -x) 000 : Liy) = ~L(-x)
¢ = =fanx ‘()( +3xet)
", fqg *-3)( ,,(s-z —x A{(—x] 3(-)() + |Z2X 4—‘/1( -8x +l*= =
P
T +‘lfz—8x+ff/2x 4 e Fu -2x *‘fK “July R TeUn-8x 1
Nor Evews Ner™ 0Oon
K- 'NEJT'HE@/
11. Determine if @43 is a factor of x3 + 2x? — 5x — 6. Justify your answer. '
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